CONTRACT NO. 8565

		Capitol Underground, Inc.		Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.	Sand & Underground,	Raymond P. Cattell, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
Section B: Proposal Page								
10701 - TRAFFIC CONTROL - LUMP SUM 10721 - TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE MESSAGE -	1.00	\$4,200.00	\$4,200.00	\$4,300.00	\$4,200.00	\$4,200.00	\$7,500.00	\$1,000.00
DAYS 10770 - MAINTAIN RESIDENTIAL	3.00	\$75.00	\$225.00	\$77.00	\$75.00	\$75.00	\$75.00	\$60.00
DRIVEWAY ACCESS - EACH 10801 - ROOT CUTTING - CURB &	1.00	\$840.00	\$840.00	\$150.00	\$575.00	\$391.00	\$400.00	\$895.00
GUTTER (UNDISTRIBUTED) - L.F. 10802 - ROOT CUTTING - SIDEWALK	120.00	\$4.80	\$576.00	\$15.00	\$0.01	\$20.00	\$10.00	\$12.00
(UNDISTRIBUTED) - L.F.	60.00	\$4.80	\$288.00	\$15.00	\$0.01	\$20.00	\$10.00	\$12.00
10912 - MOBILIZATION - LUMP SUM	1.00	\$94,000.00	\$94,000.00	\$130,000.00	\$116,500.00	\$61,994.00	\$133,000.00	\$184,001.10
20101 - EXCAVATION CUT - C.Y.	2680.00	\$19.63	\$52,608.40	\$19.00	\$23.60	\$17.20	\$23.00	\$26.00
20130 - UNDERDRAIN - L.F.	230.00	\$16.32	\$3,753.60	\$16.75	\$16.25	\$14.30	\$15.00	\$24.00
20140 - GEOTEXTILE FABRIC TYPE SAS								
NON-WOVEN (UNDISTRIBUTED)- S.Y.	960.00	\$3.51	\$3,369.60	\$0.50	\$2.50	\$2.50	\$2.50	\$4.00
20219 - BREAKER RUN - TON	640.00	\$11.71	\$7,494.40	\$13.75	\$18.10	\$14.80	\$12.50	\$15.00
20221 - TOPSOIL - S.Y. 20303 - SAWCUT BITUMINOUS	158.00	\$3.80	\$600.40	\$20.00	\$32.50	\$13.20	\$10.00	\$18.70
PAVEMENT, FULL DEPTH - L.F. 20322 - REMOVE CONCRETE CURB &	250.00	\$2.50	\$625.00	\$2.10	\$3.00	\$3.00	\$5.00	\$1.75
GUTTER - L.F. 20323 - REMOVE CONCRETE	1150.00	\$3.61	\$4,151.50	\$4.00	\$8.26	\$3.80	\$5.00	\$7.20
SIDEWALK & DRIVE - S.F.	1090.00	\$3.10	\$3,379.00	\$1.70	\$2.50	\$3.30	\$4.00	\$4.40
20401 - CLEARING - I.D.	62.00	\$47.50	\$2,945.00	\$49.00	\$47.50	\$47.98	\$40.00	\$72.00
20406 - GRUBBING - I.D. 20504 - ADJUST VALVE CASTING -	62.00	\$47.50	\$2,945.00	\$49.00	\$47.50	\$47.98	\$40.00	\$72.00
EACH	16.00	\$306.70	\$4,907.20	\$300.00	\$150.00	\$205.00	\$300.00	\$130.00
20701 - TERRACE SEEDING - S.Y.	158.00	\$1.85	\$292.30	\$10.00	\$10.00	\$7.00	\$10.00	\$10.00

CONTRACT NO. 8565

		Capitol Underground, Inc.		Parisi Speedwa Construction Sand & Co., Inc. Gravel, I		Underground,	Raymond P. Cattell, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
21063 - EROSION MATTING, CLASS I,								
TYPE A - ORGANIC - S.Y.	158.00	\$1.85	\$292.30	\$10.00	\$15.00	\$7.00	\$10.00	\$15.00
30201 - TYPE 'A' CONCRETE CURB &								
GUTTER - L.F.	1470.00	\$33.54	\$49,303.80	\$28.75	\$21.60	\$33.23	\$32.90	\$33.23
30203 - TYPE 'X' CONCRETE CURB &								
GUTTER - L.F.	60.00	\$42.00	\$2,520.00	\$39.25	\$27.60	\$41.31	\$40.90	\$41.31
30208 - HAND FORMED CONCRETE								
CURB & GUTTER (UNDISTRIBUTED) -								
L.F.	60.00	\$42.00	\$2,520.00	\$39.25	\$27.60	\$41.31	\$40.90	\$41.31
30301 - 5" CONCRETE SIDEWALK - S.F.	3210.00	\$6.22	\$19,966.20	\$6.30	\$5.10	\$6.31	\$5.90	\$6.50
30302 - 7" CONCRETE SIDEWALK AND								
DRIVE - S.F.	500.00	\$7.01	\$3,505.00	\$7.60	\$6.45	\$6.57	\$6.50	\$7.15
30340 - CURB RAMP DETECTABLE								
WARNING FIELD - S.F.	16.00	\$30.00	\$480.00	\$43.25	\$55.00	\$30.30	\$30.00	\$30.30
40101 - CRUSHED AGGREGATE BASE	1840.00	\$15.90	\$29,256.00	\$14.50	\$16.10	\$16.80	\$17.50	\$23.00
40102 - CRUSHED AGGREGATE BASE								
COURSE GRADATION NO. 2 - TON	2400.00	\$15.90	\$38,160.00	\$15.00	\$17.80	\$16.80	\$17.50	\$23.00
40202 - HMA PAVEMENT 4 LT 58-28 S -								
TON	1184.00	\$65.60	\$77,670.40	\$65.00	\$65.60	\$63.89	\$65.60	\$63.89
40218 - TACK COAT - GAL	383.00	\$2.00	\$766.00	\$3.10	\$2.00	\$3.03	\$2.00	\$3.03
40231 - ASPHALT DRIVE & TERRACE -								
S.Y.	210.00	\$29.86	\$6,270.60	\$25.75	\$20.00	\$46.20	\$35.00	\$52.80
40301 - FULL WIDTH GRINDING - S.Y.	687.00	\$6.25	\$4,293.75	\$8.20	\$6.25	\$8.08	\$6.25	\$8.08
60816 - 18-INCH CONTINENTAL		***		***	400.00	***	400.00	400 -0
CROSSWALK - L.F.	160.00	\$22.00	\$3,520.00	\$22.75	\$22.00	\$26.50	\$22.00	\$26.50
60881 - PAVEMENT MARKING	100.00	\$2.00	\$200.00	\$2.10	\$2.00	\$2.00	\$7.00	\$9.25
90001 - GEOSYNTHETIC								
REINFORCEMENT FABRIC	000.00	<b>#</b> = 00	<b>*</b> 4 0 5 7 0 0	<b>44.00</b>	<b>45.05</b>	<b>#</b> 7.00	<b>47.00</b>	<b>A7</b> 00
(UNDISTRIBUTED) - S.Y.	960.00	\$5.06	\$4,857.60	\$1.00	\$5.25	\$7.20	\$7.00	\$7.30
90002 - TREE PROTECTION FENCING -	20.00	<b>#40.00</b>	<b>#007.00</b>	<b>#40.00</b>	<b>#44.04</b>	<b>#40.00</b>	<b>#40.00</b>	<b>#40.00</b>
L.F.	30.00	\$12.93	\$387.90	\$10.00	\$14.84	\$13.00	\$10.00	\$10.00

CONTRACT NO. 8565

		Capitol Underground, Inc.		Parisi Speedway Construction Sand & Co., Inc. Gravel, Inc.		S&L Underground, Inc.	Raymond P. Cattell, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
90003 - FURNISH AND INSTALL CURB								
BOX - EACH	1.00	\$426.16	\$426.16	\$950.00	\$1,900.00	\$492.00	\$1,000.00	\$1,100.00
20217 - CLEAR STONE - TON	400.00	\$4.80	\$1,920.00	\$14.50	\$8.00	\$15.90	\$15.00	\$17.00
21002 - EROSION CONTROL								
INSPECTION - EACH	10.00	\$150.00	\$1,500.00	\$300.00	\$125.00	\$525.00	\$350.00	\$525.00
21011 - CONSTRUCTION ENTRANCE -								
EACH	2.00	\$600.00	\$1,200.00	\$150.00	\$550.00	\$884.00	\$400.00	\$540.00
21013 - STREET SWEEPING - LUMP								
SUM	1.00	\$3,829.95	\$3,829.95	\$6,000.00	\$4,120.00	\$2,160.00	\$2,500.00	\$5,000.00
21015 - STREET CONSTRUCTION								
STONE BERM - EACH	16.00	\$300.00	\$4,800.00	\$160.00	\$150.00	\$207.00	\$250.00	\$250.00
21049 - INLET PROTECTION, RIGID								
FRAME - PROVIDE & INSTALL - EACH	34.00	\$150.00	\$5,100.00	\$260.00	\$325.00	\$325.00	\$300.00	\$325.00
21050 - INLET PROTECTION, RIGID								
FRAME - MAINTAIN - EACH	34.00	\$30.00	\$1,020.00	\$77.00	\$80.00	\$80.00	\$50.00	\$80.00
21051 - INLET PROTECTION, RIGID								
FRAME - REMOVE - EACH	34.00	\$54.00	\$1,836.00	\$77.00	\$40.00	\$40.00	\$50.00	\$40.00
50401 - 12 INCH RCP STORM SEWER								
PIPE - L.F.	446.00	\$74.33	\$33,151.18	\$76.00	\$65.10	\$75.30	\$80.00	\$97.00
50741 - TYPE H INLET - EACH	16.00	\$2,410.40	\$38,566.40	\$2,600.00	\$3,280.00	\$2,869.00	\$2,400.00	\$2,700.00
10702 - TRAFFIC CONTROL FOR								
STORM SEWER INSTALLATION - LUMP								
SUM	1.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,000.00
20313 - REMOVE INLET - EACH	12.00	\$505.08	\$6,060.96	\$530.00	\$740.00	\$550.00	\$550.00	\$720.00
20314 - REMOVE PIPE - L.F.	222.00	\$25.12	\$5,576.64	\$20.25	\$15.00	\$26.50	\$25.00	\$38.00
50211 - SELECT BACKFILL FOR STORM								
SEWER - T.F.	824.00	\$0.01	\$8.24	\$0.01	\$0.01	\$0.01	\$0.01	\$0.01
50402 - 15 INCH RCP STORM SEWER								
PIPE - L.F.	213.00	\$71.85	\$15,304.05	\$78.00	\$69.55	\$70.60	\$80.00	\$100.00
50403 - 18 INCH RCP STORM SEWER								
PIPE - L.F.	116.00	\$77.09	\$8,942.44	\$82.00	\$74.10	\$83.60	\$93.00	\$105.00

CONTRACT NO. 8565

		Capitol Underground, Inc.		Parisi Construction Co., Inc.	Speedway Sand & Gravel, Inc.	S&L Underground, Inc.	Raymond P. Cattell, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
50404 - 21 INCH RCP STORM SEWER								
PIPE - L.F.	49.00	\$85.13	\$4,171.37	\$96.00	\$80.20	\$91.80	\$110.00	\$113.00
50499 - CONCRETE COLLAR - EACH	2.00	\$702.67	\$1,405.34	\$490.00	\$1,124.00	\$577.00	\$750.00	\$950.00
50723 - 3'X3' STORM SAS - EACH	4.00	\$4,260.53	\$17,042.12	\$3,500.00	\$3,690.00	\$4,266.00	\$4,000.00	\$3,680.00
50724 - 4'X4' STORM SAS - EACH	4.00	\$4,895.70	\$19,582.80	\$3,600.00	\$4,230.00	\$5,083.00	\$4,750.00	\$4,700.00
50725 - 5'X5' STORM SAS - EACH 50793 - PRIVATE STORM SEWER	1.00	\$5,474.48	\$5,474.48	\$5,400.00	\$4,767.00	\$5,915.00	\$6,000.00	\$5,800.00
RECONNECT, TYPE 1 - EACH 50801 - UTILITY LINE OPENING (ULO) -	2.00	\$1,178.98	\$2,357.96	\$1,000.00	\$1,600.00	\$1,641.00	\$1,750.00	\$1,910.00
EACH	6.00	\$710.62	\$4,263.72	\$1,000.00	\$1,075.00	\$863.00	\$800.00	\$670.00
50802 - CONCRETE SUPPORTS - EACH 90030 - RELOCATE WATER LATERAL	1.00	\$1,174.06	\$1,174.06	\$1,100.00	\$2,500.00	\$1,749.00	\$1,500.00	\$1,200.00
SERVICE - EACH	4.00	\$1,372.00	\$5,488.00	\$2,200.00	\$960.00	\$1,540.00	\$1,950.00	\$1,280.00
90031 - RELOCATE WATER MAIN - EACH 21110 - TERRACE RAIN GARDEN - S.F. 10704 - TRAFFIC CONTROL FOR SANITARY SEWER CONSTRUCTION -	4.00 150.00	\$3,885.00 \$19.10	\$15,540.00 \$2,865.00	\$4,300.00 \$10.25	\$5,672.00 \$25.00	\$2,393.00 \$28.35	\$3,500.00 \$25.00	\$5,000.00 \$30.00
L.S.	1.00	\$1,609.00	\$1,609.00	\$500.00	\$25.00	\$25.00	\$1,425.00	\$1,000.00
20102 - ROCK EXCAVATION - C.Y. 20311 - REMOVE SEWER ACCESS	350.00	\$0.01	\$3.50	\$10.00	\$5.00	\$161.00	\$0.01	\$203.00
STRUCTURE (SANITARY) - EACH 20314 - REMOVE PIPE (SANITARY)	9.00	\$581.00	\$5,229.00	\$530.00	\$750.00	\$910.00	\$581.00	\$670.00
UNDISTRIBUTED - L.F. 20331 - ABANDON SEWER ACCESS	125.00	\$26.20	\$3,275.00	\$20.25	\$30.00	\$26.50	\$26.20	\$38.00
STRUCTURE (SANITARY) - EACH	1.00	\$382.00	\$382.00	\$530.00	\$740.00	\$585.00	\$382.00	\$570.00
20336 - PIPE PLUG - EACH 50212 - SELECT FILL FOR SANITARY	4.00	\$455.00	\$1,820.00	\$150.00	\$600.00	\$258.00	\$455.00	\$830.00
SEWER MAIN - T.F. 50225 - UTILITY TRENCH PATCH TYPE	2575.00	\$0.01	\$25.75	\$0.01	\$0.01	\$0.01	\$0.01	\$0.01
III - T.F.	174.00	\$63.00	\$10,962.00	\$64.00	\$86.00	\$72.40	\$63.00	\$54.00

CONTRACT NO. 8565

		Capitol Underground, Inc.		Parisi Speedway Construction Sand & Co., Inc. Gravel, Inc.		S&L Underground, Inc.	Raymond P. Cattell, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
50301 - 8" PVC SANITARY SEWER PIPE								
SDR-35/SDR-26 - L.F.	1051.00	\$92.00	\$96,692.00	\$89.00	\$105.20	\$95.20	\$92.00	\$115.00
50302 - 10" PVC SANITARY SEWER								
PIPE SDR-35/SDR-26 - L.F.	595.00	\$132.40	\$78,778.00	\$130.00	\$141.80	\$127.00	\$132.40	\$183.00
50353 - SANITARY SEWER LATERAL								
SDR-35/SDR-26 - L.F.	941.00	\$32.80	\$30,864.80	\$14.75	\$10.10	\$61.50	\$32.80	\$49.50
50356 - RECONNECT SANITARY								
LATERAL - EACH	28.00	\$2,907.00	\$81,396.00	\$3,800.00	\$3,239.00	\$2,254.00	\$2,907.00	\$5,100.00
50359 - COMPRESSION COUPLING -								
EACH	1.00	\$750.00	\$750.00	\$1,200.00	\$915.00	\$1,084.00	\$750.00	\$570.00
50361 - WASTEWATER CONTROL - L.S.	1.00	\$7,420.00	\$7,420.00	\$250.00	\$5,600.00	\$6,610.00	\$7,420.00	\$20,000.00
50390 - SEWER ELECTRONIC								
MARKERS - EACH	66.00	\$24.00	\$1,584.00	\$48.25	\$66.00	\$82.00	\$24.00	\$40.00
50701 - 4' DIAMETER SAS - EACH	7.00	\$3,707.00	\$25,949.00	\$4,100.00	\$3,685.00	\$3,462.00	\$3,707.00	\$3,500.00
50702 - 5' DIAMETER SAS - EACH	1.00	\$15,700.00	\$15,700.00	\$7,500.00	\$9,555.00	\$6,253.00	\$15,700.00	\$7,300.00
50771 - INTERNAL CHIMNEY SEAL -								
EACH	3.00	\$507.00	\$1,521.00	\$480.00	\$360.00	\$471.00	\$507.00	\$410.00
50791 - SANITARY SEWER TAP - EACH	5.00	\$1,450.00	\$7,250.00	\$2,500.00	\$1,200.00	\$1,389.00	\$1,450.00	\$1,500.00
70101 - FURNISH AND INSTALL								
STYROFOAM - EACH	9.00	\$148.00	\$1,332.00	\$190.00	\$104.00	\$120.00	\$75.00	\$135.00
83 Items	Totals		\$1,014,319.87	\$1,048,912.69	\$1,069,909.09	\$1,070,870.22	\$1,098,143.44	\$1,432,500.00